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P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% SFI044E11H12H eI Dt e/ 83 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
K IR “ 11. 00 | #H%f 131 1, 441 1, 350 943 540
IENE b 10. 00 | #H5%f 32 320 1, 296
HOR w5 5. 00| FH%f 48 240| 3,024 2,165| 1,080
B X /) 15. 00 | #856f 1,035 15,525 1,512 1,418| 1,080
ERSEaNe) o JE 12. 00 [ #A % 526 6,312 1,188] 1,090 540
FEONAE (r— 4. 00 | FHxF 166 664 1,836 1,805| 1,512
H & 5 H 3. 00| FHxf 180 540 1,296 1,122 734
H A el 1. 00 | #H % 260 260 864 674 432
ENIEE .00 4% il 85| 2,700] 1,954| 1,350
AN w5 2. 00 [ FH %} 90 180 1,026 828 594
= w5 4. 00| FH%f 126 504 2,376 2,120 1,836
[N %% 5. 00| FHxf 394 1,970 1,728| 1,416| 1,080
v—~ & ) 5. 00 [ FH %} 1 5 756
EN 0.15|4a%k| 2,670 01| so|  m4| 49
~7 b= b = 3. 00 [ FHx%} 21 63| 2,376| 2,345| 1,728
ot E JEE I 2. 00| FHx%f 20 401 2,160| 2,106| 1,944
H ik w5 5. 00| FHx%f 60 300 2,160 1,944| 1,728
B %O 10. 00| AHxf 120 1,200 2,592 2,160| 1,836
£ A AbifEE 20. 00 | AHxt 255 5, 100 2, 052
& @ | 1000k 60| 1,600 2,376 2,099 1,933
LA R o JE 10. 00 | #H%f 643 6,430 2,435 2,077 1,620
P=—1rF & 4. 00| FHxf 350 1,400| 1,620| 1,373 756
Turyal— w5 6. 00 | #Hx} 312 1,872 3,240 2,892| 2,160
AEHEE w5 0. 10| #Hxf | 2,800 280 173 119 65
ZDEH E % 0. 20| FA%F 870 174 76 64 41
LU £ B 0. 20| FA%F 570 114 97 84 65




1D:1210 p- 2
P g SR
2 W B #E7E Boal R
Rz SFI044E11H12H eI Dt e/ 34 b (Biir)
fh 4 JE Hh = (Mo | E=E i fiE T fE g2y ]

FAEM Foagk L 10. 00| AHxf 573 5,730 3,974 2,694 1,296
5 U H & 10. 00| FA % 42 4201 3,780 3,773 3,629
gy O 10. 00 | #H%f 85 850 2,700 2,550| 1,944
= 42 | 1000 fE%| o8| 1,080| 2,376 2,176| 1,512

Avara 7 4 U E | 13.00| tH%F 19 247| 3,024 2,666 2,538




